GREEN LAND SR. SEC. PUBLIC SCHOOL, LDH
o= CLASS-VIII

Dear Parents and Students

As we embark on the summer vacation, | want to remind you of the importance
of continued learning and growth during this time away from school. To ensure
that our students remain engaged and academically stimulated, we have
assigned summer vacation homework for all classes. This homework is designed
to reinforce concepts learned throughout the year and to prepare students for
the upcoming academic term. | urge all students to approach their summer
homework with diligence and responsibility. Completing these assignments will
not only enhance your academic skills but also help you start the new school
year on the right foot. Parents, your support in encouraging your children to
complete their summer homework is invaluable. By working together, we can
ensure that our students continue to thrive academically.

If you have any question or concern regarding the summer vacation homework,
please do not hesitate to reach out to your child's teachers .

Principal

Wishing everyone a productive and enjoyable summer break!

R A ~
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Green Land Sr. Sec. Public School Ludhiana
Class-VIll Holidays Homework Project

To make a Model showing:

1) Liquid exert pressure on the base and on the walls of the container
R.No. (1-7)

2) Pressure increases with depth and liquid exert equal pressure at the
same depth. R. No.(8-14)

3)Contact and noncontact forces. R.No.(15-21)

4)Nitrogen cycle R.No.(22-28)

5)To make a chart showing different methods of irrigation.
R. No.(29-35)

6) To make a chart showing beneficial microorganisms and harmful as
well. R.No.(36-45)



GREEN LAND SR. SEC. PUBLIC SCHOOL ,LDH
CLASS-VIII ASSISGNMENT NO. 1 SUBJECT ENGLISH
HOLIDAY HOMEWORK

1. Enjoy reading a good book and write a book review on A4 sheet.
( Compulsory H.W.)
2. Solve one page of My Learning Port daily.
3. Solve Comprehension exercise 3&4 on your Grammar books.
4. Three assighments as Holidays Homework.

Informal Letter(sample)

Letter to a Friend about Arranging a Get-together
BB Street,

Allahabad — 211005

12/05/2024

Dear Sidhika

Hope you are keeping well, and everyone at home is keeping safe and healthy. It has been a long time since all of us
have met, so | was thinking we could all meet up. | have planned to have a get-together next month. | would love to
discuss more about it.

All of us could meet on Friday evening and stay over the weekend at a resort in Munnar. The climate in Munnar is great
and it will be a good stress reliever. We could also go around the tourist spots if everyone is interested. If you are ready,
we could talk to the others also. | will visit you next weekend to discuss more on this.

Awaiting your reply and hoping to meet you soon.
Love,
Sreya

Practice question: Write a letter to your friend Rudra inviting him to spend the summer vacation at your place in
Mumbai. You are Sakshi/ Saksham. Do not exceed 120-150 words.

ANS.



The Children’s Hour

State weather the following statements are true or false:

a)
b)
c)
d)
e)

The poem is set in the early morning hours.

The poet’s daughters are named Alice, Allegra and Edith.
The children are quite afraid of their strict father.

The poet’s heart is full of love and affection for his children.
The poem paints a dark and gloomy picture of the family life.

1. Asthey climb down the staircase, what are the children planning to do? How does the father know
this?

ANS.

2. Quote two lines from the poem that reveal the father’s deep love for his children.

ANS.

3. Why do you think the poet refers to this time of the day as ‘The Children’s Hour?

ANS.

Planning a Surprise

Answer the following questions in brief:

1. What kind of bond does Mrs. March share with her daughters?

ANS.

2. What was the reaction of daughters after the letter was read?
ANS.

3. Name the four daughters. Who amongst them is blessed with the musical talent?

ANS.

4. What was the expectation of Mr. March from his daughters?

ANS.



Green Land Sr. Sec. Public School

Class -VIil. Subject — English
Holidays Homework ( Assignment no. 2)

A. Fill in the blanks with suitable pronouns:

1. All glitters is not gold.

2. She is the matron they have just appointed.
3. He s one of those boys deserve punishment.
4. Idislike playing video games so often.

5. My house is better than of my cousin.

6. are you looking for?

7. ltis the same mistake, he committed.

8. Nobody is satisfied with lot.

9. One should love country.

10. He is the man can be relied upon.

B. Insert in the blanks the correct determiners from those given in the brackets :

1. Only ................ friends can be trusted.( few, a few)

2. what is the................ news of today?( Latest, fresh)

3. Usually parents give ............... advice . (much ,many)

4.The ............. of India loves peace.(whole, all)

5. Please get ready, the train may arrive ............ time.( Some, any)

6.No ............ than ten passengers were killed in the accident.( fewer ,less)
7. of these 20 students could please the teacher (neither, none)
8. The doctor visited the patient ....... ...... third day.( each, every)

9. Is there.......... ...justification in doing this? (any,some)

10. .ccoeeeenee. students attended the seminar.( all, each)

C. Fill in the appropriate form of verb.
a. My sister in the school since 2008.

i)Teaches ii) has been teaching iii) Had been teaching iv)) have been teaching

b. | for vacation on my birthday, coming next month.
i) Am planning ii ) has planned iii ) Was planned iv) are planning

c. The children until past midnight.

i) Was playing ii ) were playing iii) Have been playing iv ) had playing



d. The earth round the sun.

i) Move ii) moves iii) Moved iv) was moved
e. | his letter a week ago.
i) Receive i) receives iii) Received iv ) will receive
f. My father to see me only a month ago.
i)Come ii) came iii) Will come iv) comes
g. It since 10 O’ clock.
i) Rain ii) rains iii) Has rained iv) has been raining
h. When I reached the station the train left.
i) Has ii) have iii) Had iv) will have

i.  While I was writing this book , my daughter

i) Weep ii) was weeping iii) Wept iv) will weep
j. My father said that he to Delhi.
i)Was going ii) is going iii) Go iv) has gone
j Manoj T.V. when his brother came.
i) Was watching ii) watch iii) Watched iv) watching
k. He saw me by chance and the bus.
i) Was stopping ii) stops iii) Stopped iv) stop
I.  He still remembers the day when he first to church.

i) Going ii) gone iii) Went iv) was going



GREEN LAND SR. SEC. PUBLIC SCHOOL, LDH.
SUBJECT — ENGLISH
Assignment no. 3
Read the passage given below and answer the questions that follow:

1. Every event a person sees and every noise he hears are in ever instance part of a life that has been
created for him as a unit. Whether major or insignificant, no event in the universe happens by
coincidence. No flower blooms or fades by chance. No man comes into existence or dies out of pure
coincidence. No man becomes sick by mistake and neither does his sickness develop in an uncontrolled
manner. In each case, these occurrences are especially predestined by God, from every moment they
were created.

2. Destiny is something that you have been creating unconsciously. You can also create it consciously. You
can rewrite it; all that we do in the form of a spiritual process is just that. If you can touch the core within
you, if you can experience that the source of creation is within you and then shift your focus on yourself,
you can rewrite your own destiny. This is true as far as | know.

3. All the time your focus is scattered because what you consider as ‘myself is your house, your car, your
wife, your children, your education, your position, and your other identities. If | strip you of all these
things, including your body and mind, which are just accumulations, you will feel like a nobody.

4. Once you become a true individual, your destiny is yours. Individual comes from ‘indivisible’ — it cannot be
divided any more. It cannot be here and there. Why people in the spiritual process, who are in a hurry for
spiritual growth, are not getting into marriage, children and relationships, because the moment you have
a wife or a husband, you fall into a trap. ‘Me’ gets identified with the others. The significance of Sanyasi
and Brahmacharya is just shifting your focus on you. When I say ‘you’, it is just ‘you’, neither your body
nor your mind.

5. Ifyou are unable to be like that, you just choose one identity. When you say ‘you’, make it you and your
Guru. You attach yourself to the Guru without any hesitation because you can get as entangled as you
want with him but he is not going to get entangled. The moment you are ‘ripe’ you can drop the
attachment. With other relationships, it is never so. Even if you want to get free, the others will not let
you go.

6. So, just create a longing to grow, to dissolve and to know. What has to happen will happen. Once you
become an individual, your destiny becomes yours. Once your destiny is happening in awareness, the
next step will happen by itself, because life within you has the intelligence to choose freedom.

On the basis of your reading of the passage, answer the following questions in brief:
(a) According to the writer, how can you rewrite your own destiny?

(b) Why are ‘spiritual’ people not getting into marriage, children and relationship?

c) Why should you attach yourself to the Guru without any hesitation?

(d) Why is our focus scattered when we have possessions and relationships?




e) What are the occurrences that are predestined by God?

On the basis of your reading of the passage, answer the following :

(a) Each eventis .......... By God.

(i) ignored. (ii) overlooked. (iii) pre-decided. (iv) performed

(b) Destiny is created by us ..........

(i) consciously. (ii) unconsciously (iii) both (i) & (ii). (iv) none of these

c) The word in para 5, which means ‘involved in complication’ is ...........

(i) Flippant. (ii) Trap (iii) entangled (iv) Flattery
(d) In para 3, the word which means ‘attention’ is ..........

(i) feeling. (ii) neglect (iii) focus. (iv) Mind

e) Life within us has the............. to choose freedom.

(i) Wish. ii) Intelligence iii) Fear. iv) Pressure



Greenland Sr. Sec. Public School, Ludhiana
Holiday Homework Mathematics :

Assignment of Ch Square and Square Roots
McQ

1. Which of the following digit have 4 at the unit place?

(a) 182 (b) 92 (c) 32 (d) 152

2. Find the square of the 37 without actual multiplication.

(a) 1369 (b) 1444 c) 1521 (d) 1269

3. Write a Pythagorean triple whose smallest number is 6.

(a)2,4,8 (b)2,4,6 (c)8,9,10 (d) 6,8, 10

4. ls, 92 a perfect square?

(a) Yes (b) No (c) May be (d) May not be

5. 625 plants are to be planted in a garden in such a way that each row contains as many plants as the number of
rows. Find the no. of rows and the number of plants in each row

(a) 23 (b) 24 (c) 25 (d) 15
6. Find the smallest square number which is divisible by each of the numbers 2, 3, and 5
(a) 45 (b) 30 (c) 35 (d) 25
7. Area of a square plot 2401 m?2. Find the side of square plot.
(a) 49 (b) 48 (c) 59 (d) 39
8. Area of a square plot 2401 m?2. Find the side of square plot.
(a) 49 (b) 48 (c) 59 (d) 39
9. What will be the number of zeros in square of 400?

(a)2 (b)3 (c)4 (d)6
10. How many natural numbers lie between 92 and 102?

(a) 17 (b) 18 (c) 19 (d) 20
11. What is the sum of first four odd natural numbers?

(a) 16 (b) 17 (c) 18 (d) 20
12. What will be the " one's digit" in the square of 1234?

(a) 6 (b) 2 (c)8 (d)9



13. How many numbers lies between square of 11 and 12?
(a) 24 (b) 22 (c)1 (d) 23
14. How many non square numbers lies between square of n and n+1
a) n+1 (b) n (c) 2n (d) 2n+1
15. 25 can be express as the sum of first consecutive odd numbers.
(a) 5 (b) 4 (c)6 (d)3
Case Study based question

1. 9000 students were present in the school. Only 8500 called to attend lecture. They were sitting in a
lecture room in such a manner that they were as many students in the row as there were rows in the
lecture room. Reach passage carefully and answer the following questions:

(i)After arranging they found out that some more students needed. Find how many more students
required. After arranging he found out that sum of them were left out. How many students were left out?

(ii)
(iii) If more student called, then how many rows will be there?

(iv) If left out students sent back then how many students will be there in one row?

SOLVE IT:-



Greenland Sr. Sec. Public School, Ludhiana
Cubes and Cube Roots , MCQ

1. The one's digit of the cube of 53 is:

a)9 b) 3 c)7

2. The prime Factorisation of 64 is:

a)2x2x2 b)4x4x4 c)8x8x8
3. Which of the following is not a perfect cube?

a) 216 (b) 1000 (c) 243

4. By what number should 81 be divided to get a perfect cube?
a)3 b) 6 )7

5. By what number should we divide 135 to get a perfect cube?
a)3 b) 5 )7

6. Cube root of 512 is:

a)4 b) 6 )8

7. What should be divided by 53240 to make it a perfect cube?
a)5 b) 10 c) 15

8. The value of 43V1000 is:

a) 400 b) 40 c)10

9. A perfect cube does not end with zeros.

a)l b) 6 c)3

10. Cube root of 15625 is:

a)5 b) 15 c) 25

11. Which of the following is not a perfect cube?

(a) 1 (b)9 (c)8

12. The cube of 4 is

(a) 12 (b) 8 (c) 4

13. The value of 52 is

(a) 125 (b) 15 (c) 10

d)1

d) None of the above

(d) 1331

d)9

d)9

d) 12

d) 20

d)a

d)9

d) 35

(d) 2

(d) 64

(d) 75



14. The cube of an even number is always

(a) odd number (b) even number (C) prime number (d) none of these

15. The cube of an odd number is always

(a) odd number (b) even number (c) prime number (d) none of these

16. Each prime factor appears times in its cube?

(a) 2 (b) 3 (c)5 (d)1

17. Which of the following is Hardy-Ramanujan Number?

(a) 1724 (b)1725 (c) 1727 (d) 1729

18. By which smallest natural number 392 must be multiplied so as to make the product a perfect cube?
(a) 2 (b) 14 (c)7 (d) 49

19. The smallest natural number by which 243 must be multiplied to make the product a perfect cube is
(a) 3 (b) 9 (c)8 (d) 7

20. The smallest natural number by which 704 must be divided to obtain a perfect cube is

(a) 22 (b) 11 (c) 13 (d) 12

21. Options of Assertion and Reasoning based questions:

a) Assertion and Reason both correct, reason is a correct explanation for assertion.

b) Assassin and Reason both correct but reason is not a correct explanation for assertion.

c) Assertion is correct, reason is incorrect. d) Assertion is incorrect, reason is correct.

(i) Assertion: 1000 is a perfect cube.
Reasoning: Perfect cube is a number, multiplying a number three times to itself.
Assertion: The cube of odd number is odd.
Reasoning: The cube number is a number, multiplying itself by 3 itself.



Green Land Sr. Sec. Public School, Ludhiana
Class VIII Mathematics

=

1. The additive inverse of _§ is
2 2 3 3
(a) — (b) - (c) 2 (d) —-
2. Linear equation in one variable has only one variable with power
(a) 2 (b) 3 (c)1 (d) none of these

3. The solution of the equation 3x +5=111is

(a) 8 (b) 2 () 13 (d) 17
4. What is the value ofé X —i_ X — 11

(@) =  b) () (d)

15 g

5. 1is the multiplicative identity for

(a) Whole no. (b) natural no. (c) Integers (d) all of these

6. Assertion: 2x - 6 =13 is an example of a linear equation in one variable.
Reasoning: A linear equation in one variable has only one solution .

(a)Assertion and Reason both correct , reason is a correct explanation for

Assertion

(b)Assertion and Reason both correct but reason is not a correct explanation for
assertion.

C ) Assertionis correct , Reason is incorrect
(d)Assertion is incorrect , reason is correct.

7. (i) Zero has reciprocal.
(ii)) Name the property used in: (—gj X1=1%X (—2) = (—zj

8. Find the solution of: 15 —2x =3



9. Find the solution of: 3x — 5 =5x+ 10

10. Arrange in ascending order% ,—i_ ) % , 1
£ =} ls =]
11. Simplify by using properties : —g X E—i — E X g
12. Find the value of n in 225 — 5
n+g =

13. Find the solution of equation :

8p-—5 p—3 16
+ — ==
2 4 3 p

( Case study based question).

14. A number is in the form of p/q , where p and q are Integers and q is not equal to zero
is called a rational number. 0 is additive identity for rational numbers. 1 is the multiplicative
identity for rational numbers. Read the information and answer following question:

Find the sum of additive inverse and multiplicative inverse of —lé



GREEN LAND SR SEC PUBLIC SCHOOL
CLASS- VIII Mathematics

=

1. The additive inverse of is

— Lo

2 -2 15 -15
a) b) 2 o5 d) =

2. Zero is the identity for for rational numbers.

a) addition b) subtraction c) multiplication d) divison

3. If y be the reciprocal of a rational number x, then the reciprocal of y will be

a) 1 b) = 0) x d)Z

N
4. The shifting of a number from one side of an equation to other is called

a) transposition b) distributing c) commutativity d) associativity
5. A linear equation in one variable has

a) only one solution b) two solution c) more than one solution

6. Assertion: The degree of a equation 2x+3 =5 is 1.

Reason: The degree of a linear equation in one variable is 1.

a) Both assertion and reason are true and reason is the correct explanation of assertion.

b) Both assertion and reason are true but reason is not the correct explanation of assertion.

c) Assertion is true but reason is false.

d) Assertion is false but reason is true.

-

7. The sum of two rational number is 5. If one of the number is % . Find the other number.

b= | o

8. Solve and check: 2x+

ra | =

9. Solve: -2x=3

|

10. Simplify by using properties:

X Ex(_TlS)

{d3]
| e

b) Find the multiplicative inverse of:L'

d) no solution



12. Solve the
5(6x -7) +3(5x+3) = 13-x
13. Solve the equation

(8p+5) 2p—3 15
2 3 =5 7F

14. A chef is adjusting a recipe. The recipe calls for certain quantities of ingredients and the chef uses rational numbers
to adjust these quantities based on the number of servings needed.

1. If the recipe calls for % cup of sugar for 4 servings and the chef needs to make 8 servings, how much sugar is

needed?

2. If the chef wants to reduce the sugar in the recipe byilfor healthy reasons, how much sugar should required ?



Science -8 \

GREEN LAND SR SEC PUBLIC SCHOOL, LUDHIANA

1. Crop Production and Management

Section A — Objective Type Questions

Tick (V) the correct answer.
(i)  Which one of the following is an example of zaid crops?

(a) Wheat [ ] (b) Paddy ]
(c) Gram |:| (d)  Cucumber |:|
(ii) Which one of the following is a traditional method of irrigation?
(@) Chain pump [ ] (b) Drip ]
(c) Sprinkler [ ] (d) Allofthese ]

Assertion-Reason Based Question:

Inthe following question, two statements are given—one labelled as Assertion (A) and the other labelled as Reason
(R). Select the correct answer to this question from the codes (a), (b), (c) and

(d) as given below.

(a) Both A and R are true and R is the correct explanation of the assertion.

(b) Both A and R are true but R is not the correct explanation of the assertion.

(c) Aistrue but R is false. (d) Ais false but R is true.

Assertion: Roots of leguminous plants contain Rhizobium bacteria that help in nitrogen fixation.

Reason: Wheat and paddy are examples of leguminous plants.
Section B — Source-Based Questions

Observe the given diagram and answer the questions that follow.

mixture of wheat
grains and husk

lighter husk s -
particles being —
carried away 2

by wind

)
>
o
=
c
wn
~

husk

heavier wheat grains falling vertically




(i) What are the benefits of given method of separation?

(ii) What is the development in the given method of separation?

(iii) Which procedure is practised after given method of separation?

Observe the given diagram and answer the questions that follow.

Consumption of Pesticides in different states and Union Territories, 2021-22

Maharashtra
Uttar Pradesh
Telangana

Jammu & Kashmir Haryana

West Bengal
Rajasthan
Karnataka
Gujarat Tamil
Nadu

Andhra Pradesh
Chhattisgarh Orissa
Jharkhand

Bihar

Madhya Pradesh




(i)  Name some commonly used pesticides.

(ii) Which states are using most of the pesticides? Which crops are grown in those states?

(iii) What are the disadvantages of using pesticides on such a large scale?




GREEN LAND SR. SEC. PUBLIC SCHOOL, LUDHIANA

HOLIDAY HOMEWORK CLASS VIII

SUBJECT: SCIENCE

1. Crop Production and Management( Assignment 2)

(a)

(b)

1 Tick(v) t/)e\correct answer.

(a) Preparation of soil involves
() ploughing D i) Levelling
(iii) manuring

(b) Which of the following is fertiliser? D (iv)  both (i) and (ii)
(i) urea
(iii) potash D (ii) superphosphate

D (iv) all of these

(c) The method of growing different crops alternately on the same field is called
(i)  fallowing D (ii) crop rotation
(iii) mixed cropping D (iv) all of these

(d) The process in which the anthers of female plant are removed at the bud stage to prevent self
pollination is known as
(i) pisciculture D (ii) animal husbandry
(iii) emasculation

D (iv)  cross-hybridisation

(e) The process of cutting and gathering of crop after its maturation is called
(i)  winnowing D (ii) crop protection
(iii) irrigation D (iv) bharvesting

2. Following are some pictures. Match them with correct agricultural practice.

(i) Threshing

(ii) Irrigation

(iii) Ploughing

(iv) Sowing

OG0 U0 O O

OO0 OO




Fill in the blanks.

(a) Rice and maize are examples of Crops.

(b) A is used for sowing seeds.

() is used for weeding.

(d) The crops that are sown in the rainy season are called Crops.

(e) The process of transferring the seedlings from nurseries to fields is known as

Give two examples of each of the following,.
(a) Manure

(b) Kharif crop

Answer the following questions.

(a) What are the modern methods of irrigation?

(b) What are silos?

(c) What is meant by hybridisation?

(d) What are the differences between fertilisers and manures on the basis of their nature,

preparation and humus content?

Parameters Fertilisers Manure

(1) Nature

(ii) | Preparation

(iii) | Humus




GREEN ALND SR. SEC. PUBLIC SCHOOL, LUDHIANA

WORKSHEET

3. Coal and Petroleum

LS‘ection A - Objective Type Questions

1. Tick(v') the correct answer.
(il Which one of the following has the maximum amount of carbon in it?

(a)  Anthracite coal
(b)  Bituminous coal

(c)  Peatcoal

(d)  Lignite coal
(i) Where was the first oil well drilled?
(a)  Pennsylvania

(b) Texas

(c)  Florida

O0G00 TG00

(d  Ohio
2. Assertion-Reason Based Question:

In the following question, two statements are given-one labelled as Assertion (A) and the otherlabelled as Reaso
(R). Select the correct answer to this question from the codes (a), (b), (c)and

(d) as given below.

(a) BothAandR are true and R is the correct explanation of the assertion.

(b)  BothA and R are true but R is not the correct explanation of the assertion.
(c) Aistrue but Ris false.

(d  Aisfalse but R is true.

Assertion: Refining of petroleum is necessary to obtain various valuable products from thecrude oil.




Reason: Fractional distillation column helps only in extracting petroleum gas from the crude
oil.

Section B — Source-Based Questions

1. Observe the diagram given below and answer the questions that follow.

(i) Define the process shown in the given diagram.

(3
\2)




(ii) Why is ‘P’ considered the best quality coal?

(iii) Define the step-by-step process of the formation of ‘P’.

(iv) What are the products obtained from the destructive distillation of coal?

Observe the graph given below and answer the questions that follow.

State-wise installed capacity of Grid Interactive
Wind Mill Farms (in MW) as on 31.12.2018

Others |43
52.5

128.1

Kerala
Telangana
Madhya Pradesh
Andhra Pradesh

2519.89

4076.45
4299.72
4682.8
4788.13

Rajasthan
Karnataka

Maharashtra

Gujarat 5955.07

Tamil Nadu

8631.19

| | | | |
0 2000 4000 6000 8000 10000

Source- https://pib.gov.in/Pressreleaseshare.aspx?PRID=1564039

(i) Why are we moving towards the use of the above mentioned source of energy?

®




(ii) What are the limiting factors for the use of above source of energy in the northern part of
India?

(iii) What are other non-conventional sources of energy that can be used in India as the main
source of energy?




GREEN LAND SR. SEC. PUBLIC SCHOOL LDH.
Holidays Homework

Class-VIII Subject: Social Science
Ch-1 (Geography and Civics)
Name Class Section

1. The Constitution of India came into force on :
a) 26% November 1946 b) 15t August 1947 c) 26t January 1950
2. Correct the following statement:-

An independent and impartial judiciary is not essential in a federation.

Ans:- :

3. Laws are not essential for the smooth functioning of a society. (True or False)
4. A federation has levels of government.

5. Assertion/ Reasoning:-

Assertion:-A Socialist republic would seek to eliminate inequality in income.

Reason:- It ensures for its people adequate means of livelihood and fair
distribution of wealth.

Options for Answer:-
A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct

explanation of Assertion (A).

B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation of Assertion (A).

C) Assertion (A) is true but Reason (R) is false.

D) Assertion (A) is false but Reason (R) is true.

E) Both A and R are false.

6. If there are ample reserves of resources in a certain area, we should continue
to exploit them indiscriminately. (True/False)
7. and have been important factors in changing natural

substances into valuable resources.

26




8. Which of the following is a man- made resource?

a) Air b) Factory c) Water
9. What do you understand by Biotic resources?
Ans:-

B) Answer the following questions:-
10. What is Rule of Law?
Ans:-

10. What do you understand by the Preamble of the constitution?
Ans:-

11. Differentiate between Ubiquitous and Localised resources.
Ans:-

13. Explain three R’s to make environment better.
Ans:-

14.Explain Right Against Exploitation.
Ans:

15. Write any five Fundamental Duties.
Ans:-

27




Case Study

A number of biological species have become extinct from the earth due to
various ecological reasons which is a matter of great concern. It is the duty of
the man to regulate his activities in such a way that at least the species of
plants and animals, which are existing at present are saved from becoming
extinct. Similarly, the non-renewable resources must be conserved because
they are also useful and important for human life. By judicious consumption
and using alternatives, we can save them for the future.

1. What do you understand by Abiotic resources?
2. Give some examples of non-renewable resources.
3. What is resource conservation?

28




GREEN LAND SR. SEC. PUBLIC SCHOOL LDH.
Assignment Ch-2(Geography) Class -VilI(Holidays H.W)

"Land ,Soil ,Water ,Natural Vegetation And Wild Life"
A)Answer the following Questions-

1)What is land resources?

2)How much percentage of the world's population occupies 30% of the land area on earth ?

3)Define Land Use.

4)On the basis of ownership , land is classified into how many types ?

5)Write two steps to stop land degradation .

6)What is weathering ?

7)What is soil profile ?

8)Mention the types of soil found in India ?

9)What is soil conservation ?

10)Define Mulching.
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11)What do you understand by rain water harvesting ?

12)Write any two importance of wild life.

13)Name some special conservation programmes and organizations .

B)MCQs-
1)In India total agriculture land is
1)57% 2)60% 3)50% 4)45%

2)The Kedarnath landslide in Uttarakhand occurred in

1)luly 2012. 2)June 2013. 3)May 2010. 4)June 2015
3)How much percent of earth's surface is covered with water ?
1)60% 2)65% 3)70% 4)75%

4)How much water is wasted through a dripping tap in a year ?
1)1200Lt. 2)1500Lt. 3)1600Lt. 4) 1300Lt
5)When is "World Water Day" celebrated in India ?

1)20th March.  2)22nd march. 3)18thMarch. 4)15thMarch
C)Correct the following statements and rewrite again -

1)Land covers 50% of the total surface area of the earth.

2)Private land is owned and used by the community.

3)Cotton and Sugarcane grown in Red soil.
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4)Ploughing parallel to the contours (curves) of a slope of a hill creates natural barriers that trap the water
flowing down the slope is called Shelter Belt.

5)Well planned use of land is called Land use.

D)Fill in the blanks-

1) is the top most layer with high content of organic matter.
2) formed by the deposition of silt brought by the rivers.
3)Water is a natural resource.

4)Circulation of water is called
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GREEN LAND SR. SEC. PUBLIC SCHOOL LDH.
Assignment Ch-2(Civics) Secularism
Class -Vlli(Holidays H.W)
A)MCQs-

1)What is the aim of Secularism ?

1)Religious intolrence. 2)State control over religion
3)Equality among religions. 4)Discrimination based on faith
2)Indian Secularism is enshrined in which part of the Constitution ?
1)Preamble. 2)Fundamental Rights. 3)Directive Principles of state policy
4)None of the above

3)Which of the following doesn't apply to the principle of Secularism.
1)Freedom of religion. 2)State neutrality towards religion
3)Promotion of a specific religion by the state.

4)Equality among religions

4)What can we not do in government schools ?

1)Sing National Anthem. 2)Sing Rashtriya geet
3)Celebrate any religious festival. 4)None of these
5)Separation of religion from the state is referred to as

1)Monarchy. 2)Democracy. 3)Secularism 4)Republic
B)True/False-

1)Secularism promotes equal treatment of all religions by the state.

2)In a Secular state , the government can favour one religion over others.
3)Secularism is incompatible with democracy.

4)A Secular state does not interfere in religious matters.

32




5)In a Secular state, religious institutions are controlled by the government. ( )
6)Secularism protects individual's rights to exit from their religion and choose another. ( )

7)The Indian states provides financial aid to religious schools on a preferential basis. ( )

8)The Indian Constitution allows individuals the freedom to interpret religious ( )

teachings in their own way.

C)Fill in the blanks-

1)The word Secularism is derived from

2)India has been defined as a Secular country in Articles of the Constitution of India.

3)Article guarantees all communities the right to preserve their distinct language , script or culture.
4)Article 14 grants equality before the

5)Article 16 guarantees equality of opportunity to all the citizens in matters of public

6)The term Secular was added in the Preamble in

7)Religious freedom is the Right of every Indian citizen.

D)Assertion/Reasoning-
Options-

A)Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of Assertion (A)
B)Both Assertion(A) and Reason (R) are true but Reason (R) is not the correct explanation of Assertion (A)
C)Assertion (A) is true but Reason (R) is false

D)Assertion (A) is false but Reason (R) is true

E)Both A and R are false

1)Assertion- There is one significant way in which Indian Secularism differs from the dominant
understanding of Secularism as practiced in USA.

Reason- Indian Constitution intervened in Hindu religious practices in order to abolish untouchability.

Option

2)Assertion- Secularism promotes religious tolerance and equality.

Reason- In a Secular state , the government does favour any particular religion , ensuring that all citizens
have the freedom to practice their religion without discrimination.

Option
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